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1 RD [ZHTIFTFEAIHEEZANGI,
(1) X + 2 x + = ( x + ) ?
(2) X — 6 x + = ( x - ) 2
(3) X + 8 x + = ( x + ) ?
(4) b'e - 12 x + = ( x - ) 2
2 ROKXEFADOHIZTBIZIE. EALGBEMANIEENTT H,
(1) x 2+ 4 X
2) x - 12 x
(3) x 2+ 3 x
(4) x 2 — 5 x
3 RD2XBEXDFAEEAT, [2HTIFTFEIHEE=LILY,
(1) x 2 — 4 x — 3 =0
x 2 = 4 x = 3
x °— 4 x + = 3 + 2
( x - _‘) 2 =
x -] + ]
x = ]+ ]
2) x 2 — 2 x — 24 =0
x 2= 2 x = 24
x 2 -2 x + 2 = 24 + 2
( - ) 2 =
— — i
— = 0)&3 X ==
— = | |z x =
HERL T D R T Y o
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x 24+ 2 X
x 2 — 6 b'e
x 2 4+ 8 X
x 2 = 12 x
4
36
3 2 9
(—) =—
2 4
5 2 25
(—) =—
2 4
x 2 - 4 x —
x 2 - 4 x
x 2 — 4 x +
x — |21 2
x —[2]
b'e
x - 2 x —
x - 2 x
2
X - 2 x ++
( x —|1]?2
b'e — 1
b'e — 1 =
b'e — 1 =
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W5 SERR— A
1= x +|[1]h ?
9| =( x —|3] 2
6= ( x +| 4] °?2
Bl=( x —|6]| ?
3 =0
= 3
212 = 3 +]|2|*?
= 7
= =4 [1]
= L2 =4 [ 7]
24 = 0
= 24
112 = 24 +|1]°
=| 25
= =+
5 |DEE =| 6
—| 5 |[D&E x =|-4
2



